HREBEOHAAH

RSB >N —

8 B 58 — IR T 1 SE B
R

VAY

N

EEFEENER TN — TR

ZRIMELIERR Y — N1 R

FR2T4ELLA 250

sz a5 F1-1CW-036
iz O SERG2TAETLH 25 B C 10:00 ~ 12:30 )
ﬁ“ﬂﬁ e [ *Fﬂﬁﬁsiﬁﬁ)ﬁ* W 8 2T, 11, 17) e
| |EBEZE R iR 9514 R — = RE SN TR W= HAEmE
2 |FE{A BRI iR 052 s =5 T RE SN TR = 0HA0E
3 | FEEE i) 953~ 8 4 EiEEE 0. 025 0. 025
4 |—EEy ALl [AFTb FHesE 0. 120 0. 120
b |—MpEIUTA2 [BFb FHSa 0. 350 (. 350
6 |—MHRETYTB 7> b — R R o e R INT Wi W= HmE
T |—MREIUTC CY—F FE 0. 004 (. 004
§ |—mfETY 7D Avit— K TR 0. 007 0. 007
9 |[-MREIVFEL |AEY—F FUH 0. 055 0. 055
10 |—HETUTE2  |AEY— ERfl ELia 0. 004 0. 004
11 |esmszurer, F2 [Fofiovr—§ ks Sc) 0. 006 0. 006
[ [ B3R A A 0.002 0. 002
EH I rrworremrry e I 0. 002 0. 002
14 i A E— RIEMIEAD A 0. 005 0. 005
| e N i i) 0. 005 0. 005
16 [—-mirgryyI [AAY - b g 0. 008 0.008
17 |—#pETu 7T T2 R L5 45 R 0.017 0.017
18 |—MRrETu 7L BY—k o G 0.002 0. 002
190 ] v /BB MY — FATT| g 0. 004 0. 004
20 gk 5/6F MmN — kA | (PR 0. 004 0. 004
21 | HRETY TN ZRALER 4 AL A EEE 0. 007 0.007
2 |—HRET)TO 22 B35 FLREE 0.015 0.015
23 [—HRETVUTP 1 |zuvmev—am ot | FHEE 0. 005 0. 005
24 |-BRETUTP 2 |urmEv— e s | RS = - S TN G
25 |-HHMET) 7 Q T i35 RLEEE 0. 120 0. 120
26 |-MRELITR  |ArFroadmmm | SRS — — R SN TN AN
2 [-mEzuys  amgiEsiie ] — — B SN TV DA
28 [-mtEzuryT  |[nmEs i) 0. 005 0. 005
29 |—MpETY U & AA AL FLEEE 0. 003 0.003
30 [—mgErury  [aEmasgsEm A, 0. 025 0. 025
31 o — E{d:mm, ek E&%:ﬁﬁ 0. 030 0. 030
32 BrissLm TR — — S N T WD A
33 |—MRELTU T a [E I b S 72— F | GRS 0.030 0. 030
34 |—RAFLUT Db ®IEH S 5 DB (A A 0.015 0.015
35 [—BRETZV T ¢ No. 284 &k BT 5 158 £ 0.025 0.025
36 |—HHRETY 7 d IR | S R 0.015 0.015
37 |—HRET) T e HETHEIVY I 5 AR 40 0. 050 0. 050
38 |—HREIVT O s U— MBS |HmiERess 0. 005 0. 005
39 |—HHREIY T g ABF > LT O 1 8 A A2 0.013 0.013
40 |—RRETYTh B E AL LdjibrvEiE e — — [REENT WD AN
4] |—FRETU T By — Rif Y5 3 £ 0.002 0. 002
47 |—HRET) T R 3. 4 4R (I i Pt A 0.012 0.012
43 |—HRET) Tk 5/6FEFEMY— A | (NGRS 0.004 0. 004
44 |—MpETY 7 B/EEHEENY— KB | mn itk 0. 005 (. 005
45 |—RRET) 7o 1, 2B | HON R 0.012 0.012




(mSv/h)

mRRRENES (LR

1.000

A

v, BASRE X
DO AR AT N A A

)

D
ehdededdidbb bbb boddol

0.100

0.010

001 .
H25.11. 24 H26. 3. 24

—— BEERMREE (511

—H——HBREIUFAZ BT/}

———BREIU7D AUY-—FK
—BREETIUFL BY-—FK

H26. 7. 24 H26. 11. 24

—u— AtRINRER (F3~Bain)
—x— —HRELUTB T IEAY—K
— —HRETUTE1l BHEY-—F
- —BRETUTN AMEHEELHA

H27.3. 24 H27. 7. 24 H2T7. 11. 24

—ah——BEEIUTAL1 AFTYb

—e— —HBREIY7C CY—FK

—h——BREEIUTFFI, F2 Ffoy—F
—HEREEIVT0 RELMNGE

—HRETUTQ Wik —HRETIUTU IREDHALE — HiHER
—— BiRR2 ——P-1 —— P2
UP-3 e —BREDVT ) ERIRRLGIG — —HRETVT7W B, 2&khEE
—— BGREYRRE (525 —a— —BRETVTE2 RHFV— KWl —h——HRETUT P HFr— FEM (ERR)
mSv/h : 45
oy BARENES (IFA)
1.000
0.100

00 :
H25. 11. 24 H26. 3. 24

H26. 7. 24 H26. 11. 24

H27. 3. 24 H27.7. 24 H27. 11. 24

—HRETUTG F3IRI8EMmAD —u— —BREIVUFGC $31RBIEEIAD —HREIVUFH IEAVR—=FEEHEAD
—HRETUFH HAAUR-MEEBEAD —BREIUT I AAUE—-k milEF
—— —MREIUTM 5/ CEMEMY—KEAD  — —BEETUFM 5/6SMENT—KEAD & —e— —BEEIUTR AVTFVAREEN
—e— —WRETIUTS KMEHEZILHB —— —BEETUTT REDE — semR
—t— BihiR R —— IP-1 —— P2
Wp-3 —— —BRETUTV RELNSEHR
(mSv/h) T
HBHEEDES (ERFHFREX
1. 000
0.100

0. 010

0. 001

H25. 11. 24. H26. 3. 24

ke —HRETUT2 BEE LSy o7 K
—a— —BRETUTc No. 2RNMER
—— —BEETYTe RETETY7
— R
—— P ‘

p-3
—s— —BRET Y 7h FERRFLH
———EBREIUT ] BHE3, 465m
——— —BRETUTI 5./6SBERNT—KB

H26. 11. 24 H27. 3. 24 H2T7.7. 24

e —HRET Y 7b REAEAES

e —RRETU7d BEHLERREH
—— —BRETYTI @2 Y- ER
—— HiniER?

—&— WP-2

i —BRETYT7e ABT MR

—e— —HBREETUTI B¥Y— Kb
—BRETUTK 5/6BHAMY— KA
—t——BRETYTn 1, 25HHFARD

H26. 7. 24 H27. 11. 24






